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MATH1061 — DISCRETE MATHEMATICS
First Semester Examination, June 2001 (continued)

(b) Find an integer z and an integer y which satisfy the following linear diophantine
equation.

533z + 117y = 65.
Firsh fod ged (533, (17),
533=Y4.)1F + 65
[WF =1 - 65 +52

6S = 152+ 13
$2 = H-13 + 0O

S ged (33 17) = (3.
Sin e _W~PW , & Soluhs, exists
|3

i

¢S5 - §2

"t

¢s-(n#-¢5)
S65(2) - 1173

=(S33-4.13 )2 ~ (17

~—

= S33(2) 4 )17(-9)
So 53310+ HF(-45) = 5

«.« x = \O\ uU 'F\m.l

s ome solutiona
Juestion 6 see next page.

TURN OVER
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MATH1061 — DISCRETE z>ﬂmmz>ﬂ.mﬁm .
First Semester Examination, June 2001 (continued)

6. (6 marks)

{(a) Does there exist a simple grap:

h with vertices having the following degrees?
4,4,4,3,3,3,1, 1.
Explain your answer carefully.
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Jota \ th%)nh £+£+£+Www4w*~1\~M»Nw.

WF.T Fhe LlOJﬁNr« khn\v.\&\r G.ﬁ hrq\r\r\ﬂr must- be

e
,(.ﬁ\f\M.Av no

fech grph exists,

(b) (i) A tree with 10 vertices has % edges.  (Fill in the boz.)
(ii) A tree has 10 vertices with degrees 1,1,1,1,1,1,2, 2, a, b.
If a, b are 4 or greater, find a and b.

verdras (1 nk%\Cu ‘s Gx2:18&,

-

_+_+_+\+\$\+N+N+$$.T =g

So ad+b= g

Sonce each  of D\W s Y oon Q\d«r.ﬁn\.\

Wwe s \l \)«r.\ﬂ

azt, L=y

Question 7 see next page.

TURN OVER



